1. What is the average value of the function

f(x) = cosz sin®z
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2. Find the area of the region enclosed by y = (z — 1)% and
y=1-—u2x.
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3. Compute the following integral
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4. What is the volume of the solid obtained by rotating the region
bounded by the curves y = 2%, 4y = x, © > 0, about the x-axis?
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5. Use integration by parts to evaluate the following integral
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6. What is the z-coordinate of the center of mass of the region

bounded by the curves y =

(a) 2

2y=0, =1 2=237
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7. Evaluate the following integral.

/' ho + 7 I
(z+1)@+2)

(a) 2lnjz + 1]+ 2Injz + 2]+ C

(b) 2Injz+ 1| +4ln|z+ 2|+ C
(¢)2In|z+ 1] —4lnjz+ 2|+ C
(d) Inlz+ 1 +3lnjz+2[+C

(e)2injz+1|+3nlz+2/+C

f) 2z +1+njz+2(+C

(b)) X+ (;;zq{—@ ;

51;3:& ’ = “;@;m.. o ._é.»— il
(ot YO T 2) Lt A2 (XAt )
atb= 3 — @70
2en %6 = 7 = A= A)
2,3 de-adn feiid e adn (272]
v H ot

-1

b7 =y 10-b-T =b=s

Sd a=27



8

8. BEvaluate the following integral
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9. Evaluate the following improper integral
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10. Find the sum
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11. Which of the following series is convergent?
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12. Which of the below staternents is correct about the following
two series?

MY @

(a) both series are absolutely convergent.
(b) both series are divergent.

(c) both series are convergent, and none of them is absolutely
convergent.

(d} (1) is absolutely convergent and (2) is divergent
(e) (1) is divergent and (2} is absolutely convergent.

~(f) both series are convergent, and (2) is absolutely convergent.
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13. If we write the Taylor series of f(z) = /2 at 1 as

flz) = Z el — 1)7,
n={

then what is ¢57
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14. Find the sum
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15. Let

oG -1 n—1
5. Z( n)3 |
n=1

Using the Alternating Series Estimate, find the smallest n for
which the estimate S &~ S, has an error of at most 0.017
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16. Use power series to estimate the integral
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with error < 0.05.
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17. Express the following indefinite integral as a power series.
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18. What is the radius of convergence of the following power series?
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19. What is the interval of convergence of the following series?

o0
¥
a

2n

T

(e) (=1.1]
(e) (=2,2)
(f) (_2?2}
/e |
fn [ A ] R
_ xin+l | - finn 0y
1520 :)Cﬂ ! / A
S5 ;

19



